direg

Lean-To Potting Shed

Dif ficul ty
Moder ate

This DIY L ean-To Potting Shed giv es you plent y of shel tered st orage f or gar dening and planting. Buil t from dur able pr essure

treated timber s and c edar mak es this struc tur e long lasting and str  ong. Also helps pr event messinthey ard with plent vy of

hidden st orage and a lar ge w ork area.

Page 1 of 30



Tools

Kreg Tools

Wood P roject Clamp -6 "

Kreg P ocket-Hole Jig"72 0

Oth er Tools
Mit er Saw
Scroll Saw
Squar e

Table Saw
Tape Me asure
Track Saw
Drill (cordless)
Stapler

Shop V acuum
Sawhor se

Level

Mat erials

W ood P roduc ts

1

15

Pressure Treated , 4x4 , 1D"

Pressure Treated , 4x4 , 96"

Pressure Treated , 2x4 , 12"

Pressure Treated , 2x4 , 96"

Pressure Treated Ply Or Dr y Ply, 1/2" Thick , Full Sheet
Pressure Treated Ply Or Dr y Ply, 1/2" Thick , Half Sheet

Cedar Bo ard , 14 , 96"

Har dw are & Supplies

150 2 1/2" Exterior Kreg Screws

1

2

Box Roofing T acks
Roll Of Roofing F elt
Box Exterior Staples

Plastic T rellis P anels

200 1 5/8" Exterior Whit e Topped Scr ews

4

Page 2 of 30

Bricks Or Bloc ks To Stand L egs On

direg


https://www.kregtool.com/shop/clamping/clamps/wood-project-clamp---6/KHC6.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html

direg

Cut List & P arts

2 Header Bo ards, 4"x4"x9' With One E dge Cut At4.5j

2 RearlLegs, 4"x4"x~6' Cut To Length Based On The Gr ound

4  Roof Suppor ts, 4"x4"x36 7/8" Each End C ut At A P arallel 4 .5j
2 Table Suppor ts, 2"x4"x9’

4  Table Br ace, 2"x4"x36"

30 Table Top Cedar, 1"x4"x43"

2 Roof Sheets , 4 3" Wide

2 FrontL egs, 4"x4"x~5'9" Cut To Be 3" Lower Than The Re ar Legs

Page 3 of 30



direg

Dir ections

Page 4 of 30



direg

Create rear suppor t
Drill Pocket holes on at le ast 3 sides of thet ops of the r ear legs. A ttac h one He adert o the t op of the r ear legs, using K reg

screws; such that the he ader hasthe 4 .5j angle onit'st op edge, and the highest point is at the b ack.

Page 5 of 30



direg

Page 6 of 30



direg

Create front suppor t
Drill Pocket holes on at le ast 3 sides of thet ops of the fr ontlegs. A ttac h one He adert o the t op of the fr ont legs, using K reg

screws; such that the he ader hasthe 4 .5j angle onit'st op edge, and the highest point is at the b ack.

NB: When standing in position, the fr ont he ader should be 3 "lower than ther ear he ader. Thisisto create a slope inthe r oof.

The me asurements f or the lengths of the leg ar e appr oximat e, and ¢ hange b ased ony our gr ound.

Attachtwo side r oof suppor ts
Drill poc ket holes in at le ast thr ee sides of e ach end, of 2 of the r oof suppor ts. Attachto each end ofthet op ofther ear

suppor t. The roof suppor ts should be at tac hed so that the 4 .5j angle causes themt o be higheratther ear.

Stan d th e rear suppor t
Stand the fr ame, on br icks, against the shed (or other suppor t struc tur e). Mak e sur e that the r ear he ader is le vel. Drill holes
half w ay thr ough the he ader, using the K reg poc ket hole bit , at about 12" ¢ ent ers. Using K reg scr ews attac h the he adert o

the suppor tstruc tur e.

Page 7 of 30



direg

Stan d th e front suppor t
Stand the fr ont suppor ton br icks, so that the he aderis le vel and t ouc hes the outstr etched r oof suppor ts. Using K reg scr ews,

attac h the r oof suppor tsto the fr ont suppor t

Page 8 of 30



direg

Page 9 of 30



direg

Mar k h eight of tablet op
Choose the height of the table t op; w e chose 38 ". Mark the location on the fr ontand r ear legs, so that the tablet op will be

level.

Page 10 of 30



direg

Page 11 of 30



direg

Attachreartablet op suppor t
Drill poc ket holes on one side of e ach end of one 2"x 4"x9' table suppor t. Using K reg scr ews, attac h bet ween the r ear legs, at

the mar ked height , so itis flush with the fr  ont of the r ear legs.

Page 12 of 30



direg

Page 13 of 30



direg

Attachfronttablet op suppor t
Drill poc ket holes on one side of e ach end of the other 2"x  4"x9' table suppor t. Using K reg scr ews, attac h bet ween the fr ont

legs, at the mar ked height , so itis flush with the r ear of the fr ont legs.

Page 14 of 30



direg

Page 15 of 30



direg

Attachen dtablet opbr aces
Screw poc ket holes in one side, at both ends, of t wo of the 2"x 4"x36" table t op br aces. Attac h bet ween the fr ontand r ear

legs, at the height of the table t op, and flush with the insides of the fr ontandr ear legs.

Page 16 of 30



direg

Page 17 of 30



direg

Attach additional r oof suppor ts
Drill poc ket holes in atle ast 3 sides of ther emainingt wo roof suppor ts. At 33" from e ach end, at tac h the r oof suppor ts

bet ween the fr ont and r ear he ader s.

Page 18 of 30



11

Attach r oof

Me asur e the depth of y our r oof , adding 1" f or overhang. Our s was about 4 3". Cut both sheets of ply t

direg

o that wid th. Cut the ply

in lengths suc h that ther e will be 1" o verhang at e ach end, and the y meet o ver one of the mid positioned r oof suppor ts.

Using e xterior 1 5/8" screws attac h the ply t o the r oof suppor ts

Page 19 of 30



direg

Page 20 of 30



direg

Attach additional tablet op br aces
Drill poc ket holes on one side of e ach end of ther emainingt wo 2"x4"x36" table t op br aces. Attac h the br aces in bet ween the

frontand r eartablet op suppor ts, sothe y are 33" from e ach end.

Page 21 of 30



direg

Page 22 of 30



direg

Attachen d cedar tablet op piec es
Using a scr oll saw, cutt wo corners two 1"x4"x43" cedar bo ards, so that the y can o verhang the endtablet op br aces. Attachto

frontand r eartablet op suppor ts, in bet ween fr ontand r ear legs, using 1 5/8 " screws.

Page 23 of 30



direg

Page 24 of 30



direg

Attachremainin g table piec es
Space out the r emaining 1"x 4"x43" cedar bo ards, using a r igid piec e of metal, or other mat  erial. Pre-drill 2 holes at e ach end

of the bo ardto prevent split ting. A ttachto the fr ontand r ear table t op suppor ts with 1 5/8 " screws.

Page 25 of 30



direg

Page 26 of 30



15

direg

Layth eroofingfelt
Roll out r oofing f elt acr oss the fr ont of the r oof ; ensur ing that it has alot of o verlap ar ound the ply . Attac h t o the ply with

roofing tac ks, and staples. Secur e around the sof fit of the he ader and end r oof suppor ts, using the tac ks and staples. Roll out

felt at the r ear of the r oof, ensur ing that ther e is overlap with the fr ont piec e of felt. Attac h to the ply , and sof fit, in the same

way. Cut of f excess hanging f elt.

Page 27 of 30



direg

Page 28 of 30



16

Attach tr ellis

Using a tr ack saw, cut the tr ellis p anels t o cover the ends of the pot  ting shed.

Pre-drill thr ough the plasticp anels along the t

op and side edges, at about 6

the r oof suppor t, and legs, using the whit e capped 1 5/8 " screws.

Page 29 of 30

direg

"centers, to prevent cr acking. A ttach panelst o



direg

Page 30 of 30



	Lean-To Potting Shed
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Create rear support
	Create front support
	Attach two side roof supports
	Stand the rear support
	Stand the front support
	Mark height of table top
	Attach rear table top support
	Attach front table top support
	Attach end table top braces
	Attach additional roof supports
	Attach roof
	Attach additional table top braces
	Attach end cedar table top pieces
	Attach remaining table pieces
	Lay the roofing felt
	Attach trellis



